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Q<K®  FFrfis)

Q>K® Vi A fE)

B3-3 HEBI-2HFHEALF EFEEFT  WEMN—EENERTKHE,
1 3 Am iy Fe*™ % 0. 100 moleL ™1, K :
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(0. 100—0. 066 7)
0. 100

XN Fe*™ g, Ag = H 19. A% £ & % 33.3%.
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F o SR oy et 2 B 2 ORI & 5%, BON 7

_ (Ipn/pe)d (Ipl-?/ps )¢ _ (pn/pe)d (pl-t/pe)kx(ww) (@) — O™
(xpa/p™) (xpu/p)" (pa/p?) (pu/p°)
Av=(d+e)—(at0b)

(1) MR FHORT R0 80 B Av=>0 I, Q>K® T A #%

(2) YA FBUNT RV 5 140 B0 Av<<0 I ,Q<<K® Vi 4572

(3) MR IWRTIE 5 B B Av=0 I ,Q=K" , P A~ 5

i RS AT A DA N4 e - O e 738 0 SO AR SO i Jm SRS 1 B R I
TRREINP R GAT RN @ SRR B T, S 5 RO 19 75 10 RS Bl 5 ek e
S A

£ it

CERAGT - EFTHERZAAFWMALSER NN E RS R (A K.
O EEEKBAT,NAEAGEWEER M, TiH Av>0,A0<<0 5 Av=0,F#&HHLH% 3,
KREANFHELRANEEERE W, EX RN EHALEL.Q K ht4%,
REFE, QFRELEFAL  NEEREAELTRAEKRNE A B, W B 3
AvFA0,Q#Ke, P thah., FHESFENG MR E N BT 2T 8% b —F,

51 3—4 1000 °C,%EEH A 3000 kPa T, CO,(g)+C(s) == 2CO(g) i Z|
P, CO, WERSH N 0.17, LEJEWME 2000 kPa B, [ CO, WER L H KA %
S BB EMTAER?

fR: WAEHWFHEE,CO, WERLPBEHN 2, CONERLIHEN 11—z,

1t

x p(CO)=p: +2(CO,)=2000x kPa

i PCOI=p, +x(COI=2000(1—z) kPa
z AT YT I T T e

ft

Ko —L2(COV/p° ' [2000(1—2)/100]"
x »(CO/p° 2 000z /100
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Bk FERRF -

HAZBEFL BREREAN KSEFR. & K°ThEXN

»(CO)Y=3000 kPaxX (1—0.17) =2 490 kPa
»(CO,)=3 000 kPaXx0.17=510 kPa

ko _L2CO/P7T* _ (2490/100)* .,
p(CO,/p° 510/100

¥ KCEANERX:

[200001—2)/100F ..,
2 0002 /100

x=0.125=0. 13

SRR, CO, WIEERIT RO T, ST F A R 2l o 40 3 — IRk 5 24 U fRk L
A B AT, YRS 1) Sk 53 - B I 75 R A2 50

=, BREMLFETENZME
AISHE T8 AR FRARAE AT L 27 - i 1 52 i #8 2 FH Q (B AR 1 15 DA s IR

B, S B BOF AR s i B AU, RS TR R A N S BCE R s, S
G 3—4 MK3 -5,

L P -
R 3-4 BEXHIR R TE S 2
250, (g)+0,(g) = 280;(g) A HS=—197.7 kJ-mol !
t/ C 400 425 450 475 500 525 550 575 600
K® 434 238 136 80. 8 49. 6 31. 4 20. 4 13.7 9. 29

F3-5 BEXNRHARNNTEEEHNZN

CaCO; (s) == CaO(s)+CO,(g) AHS=178.2 kJ-mol !
t/C 500 600 700 800 900 1 000
K°® 9.7X107° 2.4X107° 2.9X1072 2.2X107! 1. 05 3. 70

Jeve W SEE6 I 52 i 2 T A ) 2 T 5, B RE AT BT R 298« An R AE O IR A SN

(AH=0) , W40 B2, V-5 7 B0, S 82 5 I, an SRAE IV IBUR S (AH <<0)
YOS INGL BE,  fol - i O S A R o 1 2, T i R ¥ A R W BRSNS
Bl 5 P AR B2, 17 1) TACER SR 5 1 RS 2

t
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GorR FEANEAT (AR T R R 1), F i SR ) E WX AN AR I T A RS ah o X S B A
WEB -EEERE,

L 55

£ 1000 °CHo 8 EH 3039 kPa T, K i CO,(g)+C(s) == 2CO(g) ik Z| F f#
i, CO, WERH N 0.17, K S B EWE 2026 kPa it ,CO, WERSHE N %D,
0 I s A

=] &

— WzE
L (BB PIAR AT N, () +3H, (@) —= 2NH, () BB, 25 FE /UK SISOk 2 55 R i
TP .

2. (L2 LR I - 8 K © (A2 (AR, T 5 T,
3. ST, KR PCL (g) == PCly () +Cl (g) 15 5 V455 , 4 Fr ikl 5 MK BUR 22, 1 %5 85
DN —TE BB VS b, B4 .
Tz RS
1. HEHET R 2NO(g) +0, (g) — 2NO, () kI PHREE A ).
A RMEIE B. J N H i —FhEL AR 5%
C. IE i I 3ok A 5 D. i 8B 4 4 52
2. W TR CO(g)+H, O(g) == CO.(g)+H. (), i REHE CO MR PLRINC ).
A, B CO iy B. H9f1 H, O(g) ot
C. Wiy P8 AT LA D. Py i #5A T B

3. K7 A(g) +B(g) == C() L MIA &5 Pk By, PR FEAN AL if RBRBE K 2 5%, U~ il
BOKEHEORKIC ).

A. 1/3 % B. 3 C. 9% D. K7
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L S H RN S 8 K i a& k.
(1) 2NO,(g)+4H,=— N, (g)+4H. 0
(2) Cr,0% +H,0 == 2CrO% +2H"

1
(3) NO(g)+7Oz(g) = NO:(g)

(4) CO,(g)+C(s) == 2C0O(g)

2. TN B3R LG B C. He (8) == Co Hy (g) + He (g) , il H 7 il VT, AN
HKEAASE ) Kbt m O 3l g R

3. [ C(s)+H.O0(g) == CO(g) +H. (g),AH=>0, FIMr T A Bk E & A, i I

(1) P T SR W R A sl i) S 53 1 2O WO AR G /0 P A 2 83D 5

(2) KB V-, %5 SR W0 R0 AR ) 3 s — AR S 5

(3) THil i, V-5 17 £ R 5l 5

(4) IRNAEACF] , 1E SR S35, - 17 45 RS 20

i, HEA

L CRAESRET R
Fe(s)+CO,(g) == FeO(s)+CO(g) K§=1.47
FeO(s)+H.(g) == Fe(s)+H,0(g) KS$=0.42

THRAZIRE R Y CO, (g)+H. (g) = CO(g) +H,O(g) i KF
2. WRET ,CO R H, O 5% HIA d Fb B B RO
CO(g)+H,0(g) == CO,(g)+H,(g)

K B, p (CO)=100. 0 kPa, p (H,O)=200. 0 kPa, p (CO,)=200. 0 kPa, M| jz N FF 4& 1T , [ & P i
Iy FEFEIEZ D S, CO ML RE L Dy

3. NO I O, B EZ K 2NO(g) + 0, (g) == 2NO, (), Fif 7 % £ 1T, 5 IT 4 19 I R) 0 45
p(NO)=100. 0 kPa, p(0O,)=286. 0 kPa, K F| V-, p (NO, ) =79. 2 kPa, 5l i BLAE 12 5 A T RV
K,

4. SO, #:4¥Hy SOs IR F5 290, (g) + 0, (g) == 2S0; (g). 7F 630 CH1 101.3 kPa ¥ 1.00 mol
SO, 1 1. 00 mol O, WIRAWZIGHENL V., O; , KBV F , MAFR 0 O, 25 0. 615 mol, kKT i
JE R BRI A K,

5. HR N PCl;(g)+Cl(g) == PCl(g), 7£ 5.0 L A& & A MSE Y PCL Al Cl 72
250 C HE{T Ak, 35 B F-fl (K© = 0. 533) I, PCLs #9243 [ /& 100 kPa, W JF K PCL, F1 CL, ¥y H &y
E20
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